AFLAE R =

T F 4 JIRET B RRE T = (Z201)
T F &% = il 4 R s () 12 =
T % % At SEE R EAR T R — N
(BN FH)
L (g 5 1[H] H 2[R e
MU ULEE) AR | e | Ak Gur) | nens
1 |Zgh ER R ST 6,000
2 RSt 5<7 6,000
3 |¥ABH L& E 5,950
4 & HEREFE S 6,000
5 |RAR RS 6,040
6 |5H— RSt 5,740 1 AL E
7 | = EERA ST 6,000
8
9
10

ERERARIC1005y D 10ITAH Y § 282 IR L 7o 5023, )1 BT 251 BLAI L 0> HUA ZA IS ER DS TH D,

AN F 4 A H N 4 A 6 A 24 H

AN KL & P )BT 1% 35 2ME REE=

AN AL AT ik B B i i)

A B4 A H SEpit 4 A H

5E R A H S 4 A 9 A 30 H

AFLELLEAmE (T EMmR)

(38:10% & 57 @ 6,045,000 :

AALELEAmAS  (IFRAmS) (

(38:10% & 57 @ 2370000 :
A2 N H & ff —

KOB & O

11RF00%5y



